JZ 2 REEMED Verilog HDL 583k (0D %)

psH5a: //rKagen DYIE Ttz
begin

if (rKagen[0] == 0)
begin
rKeisan[0] <= rPWMCountData[7:0] +
rshinritibData_0[7:0];

G2 ))

rKeisan[7] <= rPWMCountData[63:56] +
rShinritiData_0[63:56];

end

else

begin

rKeisan[0] <= rPWMCountData([7:0] -
rShinritiData_0[7:0];

(FRES)

rKeisan[7] <= rPWMCountDatal[63:56] -
rShinritiData_0[63:56];
end

rs <= psHS5b;
end

psHS5b: //rKagen D¥IECTEIE
begin
if (rKagen[1] == 0)
begin
rKeisan[0] <= rKeisan[0] + rShinritiData_1[7:0];

()

rKeisan[7] <= rKeisan[7] - rShinritiData_1[63:56];
end
rs <= psH5c;
end
psH5c: //rKagen DY|ETETE
begin
if (rKagen[2] == 0)
begin
rHansyaData_0 <= rKeisan[0] + rShinritiData_2([7:0];

(FRES)

rHansyaData_7 <= rKeisan([7] -
rShinritiData _2[63:56];

end

rs <= psH6;
end

psH6: / /R T—F DRIEKEIE D e SIELE
begin

if (rKagen[0]==0) begin

if (rHansyaData_0[9:8] == 2'b00) rHansyaData_0 <=
rHansyaData_0;
else rHansyaData_0 <= 10'hO0_ff;
end
else begin
if (rHansyaData_0[9:8] == 2'b00) rHansyaData_ 0 <=
rHansyaData_0;
else rHansyaData_0 <= 10'h0_00;
end
[
(Al
[/
if (rkagen[7]1==0) begin
if (rHansyaData_7[9:8] == 2'b00) rHansyaData 7 <=
rHansyaData_7;
else rHansyaData_7 <= 10'hO0_ff;
end
else begin
if (rHansyaData_7[9:8] == 2'b00) rHansyaData_7 <=
rHansyaData_ 7;
else rHansyaData_7 <= 10'h0_00;
end

rs <= psH7;
end

psH7:
begin

roHansyaData <= {

rHansyaData_7[7:0],rHansyaData_6[7:0],
rHansyaData_5([7:0],rHansyaData_4[7:0],
rHansyaData_3[7:0],rHansyaData_2[7:0],
rHansyaData_1[7:0],rHansyaData_0[7:0]

}i
roHansyaSet <= 1;

rs <= ps2;
end




